B ” Multiplier les nombres décimaux par des puissances
PLAY ?u% P de le P b

Nom: Date: Note:
3, 544 x 100000 = 9,053 x 10 =
1, 682 x 100000 = 5,739 x 100 =
6, 817 x 1000000 = 1,412 x 1000 =
5,767 x 10000 = 7,563 x 1000 =
5, 178 x 10000 = 8,947 x 10 =
4, 894 x 100000 = 5,694 x 100 =
9, 844 < 10000 = 8,21 x 100 =
6,479 x 100000 = 9, 348 x 100000 =
8,942 x 10 = 1,272 x 10000 =
7,189 x 1000 = 8, 176 x 100000 =
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Multiplier les nombres décimaux par des puissances

de dix

Nom:

3, 544 < 100000 = 354400

1, 682 x 100000 = 168200

6, 817 x 1000000 = 6817000

5,767 x 10000 = 57670

5, 178 x 10000 = 51780

4, 894 x 100000 = 489400

9, 844 < 10000 = 98440

6,479 x 100000 = 647900

8,942 x 10 = 89.42

7,189 x 1000 = 7189

Date: Note:

9,053 x 10 =90.53

5,739 x 100 = 573.9

1,412 x 1000 = 1412

7,563 x 1000 = 7563

8,947 x 10 = 89.47

5,694 x 100 = 569.4

8,21 x 100 = 821

9, 348 x 100000 = 934800

1,272 x 10000 = 12720

8, 176 x 100000 = 817600
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